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Answer all 3 (three) questions. Figures in the right margin indicate fll marks of questions wllh
corresponding COs and POs in parentheses.

1. ) Let's consider a scenario where a small town known as Neverland is faced with a decision 10
regarding the construction of a new bridge. (con
(®02)

who rely on it for daily commautes, emergency services, and transportation of goods. How-
ever, building a new bridge also requires careful consideration of the property rights of the
residents of the town. Furthermore, the need to

Analyz the above mentioned scenario from two perspectives - Utllitarianism and Kantian
‘Theory. Write down your actions as the mayor of the town from both perspectives,

b nswer in Question 1.a, critici ical theories 5
mentioned above. (con

(#02)

) Identify the major differences between Act (classical form of Utilitarianism) and Rule Util- 5
itarianism principle. (con

(v01)

) Is it more important for a leader to possess inherent moral virtues, such as honesty and 5
integrity, or to achieve favorable outcomes immediately through strategic decision-making ~ (CO1)

and effective management? (PoD)

2. a) Consider the following scenario: 7

Sarah is a manager at a company that produces electronic devices. She is responsible for ﬁ‘;g”
ensuring that the manufacturing process meets safety regulations and environmental stan- 02
dards. However, Sarah chooses to ignore reports from her team about unsafe working con-
ditions in the factory and environmental violations caused by improper waste disposal prac-
tices. Despite being aware of these issues, Smh fmls to take any corrective action because
addressing them would urce hurt

pany’s profits and her own career

u
Justify your answer.

) Consider the lnlluwmg scenario:

6
drug o treat a rare jon. The (01
rug shows promising resuts in mmal clmu al trials, but there is limited data on its long-  "°"
potential
unknown unlhedrug, i f

in certain patient populations.

Compare and contrast between Precautionary Principle and Burden of Proof perspective in
the light of the above mentioned scenario.

) How can you systematically solve the moral dilemma raising in Question 2b? Explainyour 6
answer under the framework of Ethical Cycle. con
ro1
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d) According to the Software Engineering Code of Ethics and Professional Practice as'recom- 6
‘mended by the ACM/IEEE-CS Joint Task Force, list the eight principles that the software (€01
engineers shall adhere to. o1

3. a) Explain the situations when taking risks are ethical. 443
Suppose you have not taken any measure to address the concerns about potential unknown (con
ibedin Qu

b. You have taken arisk by doingso. %%
Criticize your decision of taking risk according to the situations when risks become ethical.

b) Assume that you have checked a high-voltage power supply lines in 100 points. In your 9
opinion, there were 50 + X faulty points, among which 40 — X points were actually faulty. ~ (€02)
The actual total number of faulty points is 45. @on
Calculate the accuracy of your testing and the percentage of Type 1 and Type Il errors using
a confusion matrix. Which type of error would be more deadly in this case?

Note that X = Last digit of your student ID + 1.

B st presented in Table 1 It 6
of faults found at a particular point in a high-voltage power distribution lines, con
ro1)
Table 1: Probability distribution of fults for Question 3.c
Degree of Fault_ Probability
3 (Critical) 015
2 (Serious) 030
1 (Regular) 55
‘The probability distribution presented in Table 2 shows the probability of different amounts
of monetary damag i dent due toa fault in a high-voltag
ines.
‘Table 2: Probability distribution of monetary damages due to a fault for Question 3.c
‘Amount of Damage due to a fault_Probability
BDT 500000 020
BDT 400000 040
BDT 300000 040
Calculate 4 amount of damag on the ab 4 probability distri-
butions.
d) Comment on the severity of the risk (e.., high, medium, low) as described in Question 3¢~ 3
usinga 3. 3 risk marix, con
5
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